S 0l & AHEY I

Al A

(S &)
AT 2A B BR(E) - HRAY - BES 0 &t A blnE2

s = 288,260,328 328,109,987 239,849,659
= 78,286,589
s 43,115,000
| 31,956,782
& 134,901,957

HOll = &b 0t 93,798,564 96,535,436 N2,736,872
= 16,651,489
s 14,754,000
| 8,842,960
& 53,550,115

Fatols &< 62,373,201 62,315,943 57,258
= 1,028,708
s 14,754,000
| 6,660,200
& 39,930,293

Z0=X2 43t 19,595,213 15,155,117 4,440,0%
= 321,098
s 13,905,000
= 5,369,115

58 HPAE XA 184,000 184,000 0

308 AXIHMSO0I & 184,000 184,000
11 BI2SOHEHE A X LAE AL 184,000 184,000

O==8 A3AMY 184,000

S 2AFA0IE GAE 2,319,600 1,200,000 1,119,600
s 1,933,000
= 386,600

403 XX SHHSKHE01 A 2,319,600 1,200,000 1,119,600
= 1,933,000
= 366,600

01 AtXIEtHAH22 £ 2,319,600 1,200,000 1,119,600
O3 2sHEXZ0tE A 2,319,600
s 1,933,000
= 386,600

oy HSERa0ts ZEAY 5,439,600 1,800,000 3,639,600
s 4,533,000
& 906,600

403 XX SHHSKH=01A 5,439,600 1,800,000 3,639,600
s 4,533,000
= 906,600

01 XIXISHHAH=E X 5,439,600 1,800,000 3,639,600
Ottty HSE30tE A 5,439,600
= 4,533,000
= 906,600

|
—
|




A= MRS = N o 23 A Dt
M. 230l HY
tel: 2= Xd 243t (SH9 H2)
AR R BB O(SH) - MSAY - BAS 0l &y G o HIRS2
HE A2 PHL LA 1,773,600 564,000 1,209,600
s 1,478,000
T 295,600
403 RIXIHMSK=0|H 1,773,600 564,000 1,209,600
Fay 1,478,000
= 295,600
01 ARSI X 1,773,600 564,000 1,209,600
OME ey IHE LA 1,773,600
= 1,478,000
& 295,600
x4 02 ZEAY 1,903,200 600,000 1,303,200
g 1,586,000
T 317,200
403 REXIHMS K201 1,903,200 600,000 1,303,200
s 1,586,000
= 317,200
01 AXIHNK2EE 1,903,200 600,000 1,303,200
OxH HMOt2 LMY 1,903,200
Fay 1,586,000
== 317,200
=S0tsd SELOF ZHAIE 1,242,000 600,000 642,000
= 1,085,000
& 207,000
403 REXIHMS K201 1,242,000 600,000 642,000
g 1,035,000
T 207,000
01 AIXISHMAEE X 1,242,000 600,000 642,000
O=20tsd SELIOF ZAAI 1,242,000
s 1,035,000
= 207,000
H&E ool Z-dAY 1,848,000 0 1,848,000
= 1,540,000
& 308,000
408 RIXISHHSA=01H 1,848,000 0 1,848,000
g 1,540,000
& 308,000
01 XX SHH A =2E2 X 1,848,000 0 1,848,000
ONME SJHEoI0I2 ZHAIY 1,848,000
s 1,540,000
T 308,000
dE QAAY WY LAY 360,000 0 360,000
Fay 300,000
== 60,000
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A= FIHs2HE= M Zstols A
M 230 EE
tel: 2= Xd 243t (SH9 H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SmoETAreER e T == B Ofl &k ==
307 212t01& 9,000 10,000 21,000
02 CIZHALAIHE XL 9,000 10,000 21,000
O33N AL= AEHEZAL 9,000
0Pt =0==Etn 29 4,500 4,500 0
307 212t01 & 4,500 4,500
02 QIZHAAAE 2L 4,500 4,500
O0t= =20 2ststn 23 4,500
OtSCH2 OIOK MLl &=dl XI& 458,712 527,381 AN\B8,669
= 321,098
= 137,614
307 212t01 & 458,712 527,381 68,669
= 321,098
= 137,614
02 CIZHALAIH E X 458,712 527,381 268,669
OOtSCH2 Ol0P 12U &sHl KNI 458,712
= 321,098
= 137,614
S0 E Al 16,200 16,200 0
308 KEXIEHMSOIH 16,200 16,200
11 SI12 SOt E & X &AL 16,200 16,200
O== S E A 16,200
22SsH 243 X 20,000 20,000
308 XXM SO0IA 20,000 20,000
01 AXIHHBAELS 20,000 20,000
O=22sstMl 43t 20,000
ZEHE S0l eIB&X K& 9,000 10,000 21,000
307 212t01 & 9,000 10,000 21,000
04 CIZFHAAIE E & 9,000 10,000 1,000
OZEUESR0| 2I==&x K& 9,000
SEEEENEARZE FX2e 25,268 27,368 22,100
201 ZeH22 ] 25,268 27,368 22,100
02 S22l 25,268 27,368 A2,100
O3z & HMAl 8,020
OAIEZEHIR X 17,248
S=22s0=2e2 29 151,770 144,106 7,664
307 212t01 & 151,770 144,106 7,664
05 QIR”IAE S 151,770 144,106 7,664
Os=22stl=elsl2t 2 151,770
S=EE2MY 29 K& 1,583,353 1,464,812 118,541
306 == 1,583,353 1,464,812 118,541
01 &= 1,583,353 1,464,812 118,541
O==E2M 288 XA 1,583,353
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A= Sd=s2E= 25 0 Sgol=atg
. 2oz #Y
el 2 gEet 25 & 2= |4 EER=E)
AR 2N B . O9(3H) - NBAY - BES ol by dE= HDS2
d=-FA-3858-8 = 4= = 0l &+ 2
308 XAXIHHSOIA 500,000 500,000
01 AIXISHHBAERZ 500,000 500,000
OHM193] ME=2HSSHSHA 500,000
S0 &3 HEXA 25,200 71,200 46,000
307 QI2t0| ™ 25,200 26,200 A 1,000
2 QB AMANEEX 25,200 26,200 A 1,000
Otrkd Hst =H™ "CHH'! 9,000
OG A AZH R 8H3 16,200
== D=0 2HAH 360,000 300,000 60,000
308 AXIHHMSOIA 360,000 300,000 60,000
01 AXISHNEAEEZ 360,000 300,000 60,000
Os= 2 =322/0td 2FXA(HE) 360,000
FEIRAA SE2EHEHI |2 2H(U) 400,000 400,000 0
308 AXIHHSOIA 400,000 400,000
11 SISO CHSZ A X EAIS I 400,000 400,000
OX2HI=AMASSE HED X 2H(H2) 400,000
ZIHIAZO0F M AR =& 50,000 50,000
308 AXIHHSOIA 50,000 50,000
11 37| 2SSt EAEIEAIS DI 50,000 50,000
O23arHZ0F Al FAFZINE =& 50,000
AXIANICHA 16,200 18,000 A 1,800
308 AXIHHMSOIA 16,200 18,000 A 1,800
01 AIXSHHEAMERZS 16,200 18,000 A 1,800
OHMI2038] & XM HICH& 16,200
eAEX g JHxl & EDt 27,000 30,000 A3,000
308 AXIHHSOIA 27,000 30,000 A3,000
11 SIS CHSZ A X EAIS I 27,000 30,000 A3,000
E=2 e AEXLX[3 27,000
A 2510z HE(HEAIY) 4,000,000 3,820,000 180,000
403 XIXIHXMS K20 A 4,000,000 3,820,000 180,000
01 RIXISHHAE2E R 4,000,000 3,820,000 180,000
O&H 250l=s|2 HE(HEAIY) 4,000,000
WA OLEAIH 2HE K (HEAIY) 500,000 1,800,000 A 1,300,000
403 XIXIHXMS K201 A 500,000 1,800,000 A 1,300,000
01 AIXISHH K22 X 500,000 1,800,000 A 1,300,000
QUAOIEHAIE HE KR (HEAIH) 500,000
HEEA2 NESY 51,934 45,8% 6,038
201 LBt AH| 41,934 35,8% 6,038
01 AtR22teld| 10,000 10,000 0
Ot AZH| 10,000
02 S324H| 31,934 25,8% 6,038




A= 2eMs2E= 2L 2s0ls oS
g stz FE
oelr 2t ozt 1% & 2H=E | EER=E)
42 RA - ZB . G9(3D) - HRAY - BYS Ol &t A HlmE2
OSEEN2SERRIANAY SN2 31,934
405 KHaHF S| 10,000 10,000
02 AL 10,000 10,000
ESM0IBIEA2 BREA 7Y 10,000
SECA2 A NS (HEAY) 12,499,750 12,096,500 403,250
401 AlEHIL 20| 1,000,000 700,000 300,000
01 AlI&ZHI 1,000,000 700,000 300,000
OOt )SECEUHEENZ HE (MEAIY) 1,000,000
403 MXISHHSI=01H 11,499,750 11,396,500 103,250
01 REXIEHRIAt 2 2 2 11,499,750 11,396,500 103,250
OFF NBZM2 |2 (M EALY) 2,187,500
OSF SN2 0l A (HEAIY) 1,417,500
OME SSEM2 A (HEAY) 3,159,750
O=d SN2 HE(HEAY) 3,975,000
O=d 34 - FUH Igdll S8EA2 A
g(HEAI) 760,000
S3T A2 AR AE2d 1,273,500 1,191,750 81,750
fas 849,000
< 424,500
308 AXISHSO0IH 1,273,500 1,191,750 81,750
z 849,000
< 424,500
01 MAESHBEx= 1,273,500 1,191,750 81,750
OS3STAE A2t HE2Y 1,273,500
z 849,000
< 424,500
NN T X2 (HEAY) 160,000 501,000 A341,000
403 MXISHHSAH=0IN 160,000 501,000 A341,000
01 REXIEHRIA 2 2 2 160,000 501,000 A341,000
Olltts =gtz A2A2 &4
(MEALY) 48,000
OZE HUelHsgdH Ha2z2t Zd(
HEA) 112,000
Ao X 40,000 45,000 25,000
308 ARISHMSOIE 40,000 45,000 5,000
01 MASHHBLExS 40,000 45,000 5,000
A2 M2 THFH 40,000
OpIet &cks HAY 25 85,200 85,200 0
308 AXIHSOIA 85,200 85,200
01 MASNBSExRS 85,200 85,200
Oot|e st MAIY 28 85,200
SOHA SR MHIA Sdbld] X2 3,500 3,500 0
201 ZBt=Eh] 3,500 3,500




A2 2SHSTRR SN 2s0lEsYD
Nz 2oz =Y
&l 23 elxet 2= 2 FEHX |54 (EEEE))
AR .2 HH . () - MBAY - BES ofl vy aET HDE2
a=-FA -85 o 8= = ofl &b =
02 B22ZH| 3,500 3,500 0
O=IIatS X APIA EdBiEl XI& 3,500
A2 A 2HoIE A22UG W= 3,000 4,000 A 1,000
201 LB AH| 3,000 4,000 A 1,000
03 HAIZHHI 3,000 4,000 A 1,000
OX2ENE 2H0oIx A=H2U5 s 3,000
sl cldES A 50,000 50,000
308 AXIHHMSOIA 50,000 50,000
11 2|2 SHUSE A EAEAIEH] 50,000 50,000
O2sHs cldE=2 AIY 50,000
202t SHXH 1,505,000 105,000 1,400,000
S0 St &35t 105,000 105,000 0
307 21Z2t0| ™ 105,000 105,000 0
05 QIZtR|EZ 105,000 105,000 0
OS=303UE Nzl 28,000
O202! W< oP2tAI0l W& 10,000
O2x=203 Mg XA 27,000
ORFZ20E &2 - Tl 29AMY 40,000
HZZ0HIALE KR (HEAIS) 1,400,000 1,400,000
308 XAXIHHSOIA 1,400,000 1,400,000
01 AIXHAMBAEERZ 1,400,000 1,400,000
02023 EZ=Z0lHIAL I (HEAIS) 1,400,000
stz sS4X3 20,950,704 17,254,720 3,695,984
= 707,610
J| 6,660,200
o= 13,582,8%
HFM=odNY UK 270,000 270,000 0
308 AXIHHSOIA 270,000 270,000
01 AIXHMBAMNEEZ 270,000 270,000
OFFM=2™Y 2%H| X 270,000
Ssli=&E FHEs K 1,709,067 856,000 853,067
307 S1ZH0| & 258,500 215,000 43,500
04 SIZ2ISHALAIE E X 258,500 215,000 43,500
OHMl48s] &&= Dl=sUd 100,000
OHI19g SE=E AN M3 18,000
OHI2g] e=dES0Ig 22H 18,000
OHMI3BS S=A0ICHA 22,500
OHM113l E=0l=HAEIY 22,500
02023 M= AKX AAsH S 10,000
=2 0P9I0I1E ARl D|&8H 9,000
OHI23E SE=E MUEES] 18,000
OHN223l E=0I=83d 9,000




A RIMsSZE= A o= ot
M 2oz 2Y
&el: 23tils SEXE (St &)
A = % o|(5 - dEe =
AZ .24 - BH - H(3) - HRAY - BES Oi &k Ol Akt Hunsz
O22HE ¢ 2X0tS 2aH0=3H =3l
A 18,000
Oss HMs0s MAl ¢ WE 13,500
308 AXIHMSO0I& 1,450,567 641,000 809,567
01 XN BAELS 13,000 13,000 0
OSXz w4 '0|F0ream' 3,000
OHMIBs E=0EIHE 10,000
11 312 S0eHE &R A 1,437,567 628,000 809,567
Oll=g &xas =iz N 110,000
OFdN=It 2ags X 90,000
Ootigz128d &t=2d sh2E oY X4 70,000
o2ttt dl=28= H&E - 28 X 267,567
O0ta)ME s=2el 24 900,000
X stE JIQHM X 90,500 72,300 18,200
308 RIXIEME0IH 90,500 72,300 18,200
01 AXISHELEXS 90,500 72,300 18,200
Oousel= EIM X 30,000
OX= LI M X 16,200
ORAE HZIIQH X 10,800
OHEs3] 13,500
O=clat SHEZItH 20,000
ot 2sras Xd 425,262 439,662 A14,400
308 AHXIHMSO0I& 425,262 439,662 A14,400
01 XN BAELS 129,600 144,000 214,400
O&0te FA=2A 129,600
11 SISO UeHE & A PE A 295,662 295,662 0
Ozt s NJAAE 295,662
F0rg 2stoll= Z2els N 276,000 282,000 26,000
307 QI2Ho| A 151,000 157,000 26,000
04 CIZISHAIAIIE X 151,000 157,000 26,000
OHMI413] THErRI=ZH2 M &0t 27,000
OHMpal s=83#AE AIH 15,000
ORHNI3Rs S=2LEM K= 13,500
OHMIRs d=22H &It 30,000
ON413 M=HSREZAUS 22,500
O==H2It FAAE HALE 9,000
OXZHEY MIAZMUZE Izl 9,000
OHM218 A=F A=H 20,000
02023 LHEI 20 ME S=SHE HdUHE 5,000
308 REXISHMSOIH 125,000 125,000
01 XN LAExS 125,000 125,000
02023 E=2LERE Fe-story 10,800




A= FaMsZE= 2N 2et0is A
3 2otz 2
&el: 23tils SEXE (St &)
A= 2A - 3. SR(3) - MIRAY - BES Off &K oﬁg% HusZ
ONI302| el M=stl=oAtABAHS 12,000
Ozl H=E30 Jt0FS3Z A3 18,000
ORN243| (BSE=EHAH SAZF2 10,000
ON17el HESKN 9,000
02023 =Hl EAE HAEY 43,200
OE=HAHS ST AU 10,000
Oll41zl S=H=H izl 12,000
SR =Z AU 43,000 43,000 0
201 =3 5,000 5,000
01 AFS2t2ltl 5,000 5,000
SSUSKM==M & SSZFaEUS0M=
Kl &AL 5,000
308 XXM SO0l 38,000 38,000
01 MXSHHBAEERS 33,000 38,000
Os=USM==M & =3280
Kl 38,000
S UHE=H X2 354,000 328,000 26,000
307 212+01™ 318,000 318,000 0
04 CIZHHAIAIS B & 318,000 318,000 0
ONI30e S=eI=0M=H 100,000
OHig52l E=0l=Hl 218,000
308 XXM SOIA 36,000 10,000 26,000
01 AXEHHBAEES 36,000 10,000 26,000
OXl48| &2At HI=H 9,000
Otds Z0I=H 27,000
2E s943 KH 166,870 162,800 4,070
307 212+01& 46,000 48,500 22,500
04 CIZHHAIAIS E & 46,000 48,500 A2,500
OCBE AL €S2l 10,000
Os= =35%438 9,000
ONBCES FESAUS ZME 13,500
Os=S24H 13,500
308 AXIHMSOIA 120,870 114,300 6,570
01 XN EELS 120,870 114,300 6,570
OZ1aE R4 SNl 30,000
OO0IZA L Lis2l 88 250Xl 18,000
O==&211 8Ndks CBS &8 523 22,500
O'=3EUA" JI2323 19,500
O2met 3H K& 21,870
OHOHRIYN Oel0lE Qg S5t & et 2
NE 9,000
=5 S0l=2d A1KE 176,200 196,700 20,500
07 2I2H0| & 167,200 187,700 20,500

_10_




A= Sd=s2E= 25 0 Sgol=atg
. 2oz #Y
&el: 23tils SEXE (St &)
AR 2N B . O9(3H) - NBAY - BES ol by dE= HDS2
d=-FA-3858-8 = 4= = 0l &+ 2
2 QI2ZFEAMAIEE X 70,700 115,700 A45,000
OS=E3H0=0t2t0101 7,000
O==0=3Al &2t 12,000
OHZEAl SOt=3dF Z2HAY 11,700
OS=0UMHS 0E A L2HASA 40,000
04 QIZISHAAIH E X 96,500 72,000 24,500
OAMOISr=2E L JA| 7,000
Os=2 g 5529 &It e 9,000
SESE QA Al 53 10,000
OHNINVS HEASAE JHE 13,500
OMOIEr=H L MOI2&X] 27,000
OM1El SE=T AICIFH 30,000
308 AXIHHSOIA 9,000 9,000
01 AXISHNEAERZ 9,000 9,000
Os==g2i3l 9,000
SEUE SHES & BHES 45,000 45,000
308 AXIHHSOIA 45,000 45,000
11 37| 2SSt ZEAEHIEAIS I 45,000 45,000
OF= St SHEE Y X3AY 45,000
=M SS0=un FAI 58,500 58,500
307 S1Zto| ™ 52,500 52,500
04 QIZISHAIAIR E X 52,500 52,500
Og-5 =231 E 13,500
E=S-HIEY R230lzsnsx 27,000
OHMN9s| &=01=83 2HuNsHA 12,000
308 AXIHAHSOIA 6,000 6,000
01 AIXHMEANEEZ 6,000 6,000
OHMI10gl E==2HsUol=d 6,000
HE2SMz MEEE 213,600 320,100 A 106,500
307 2I2t01 ™ 64,000 67,000 A3,000
04 CIZISHAAIR E X 64,000 67,000 A3,000
OHMI2Zrel SIE2stu=H A 27,000
OHMI403 SE=H 11,700
Os=0s=2 store 10,000
Oss d8S4H3 stote 15,300
308 KX SHHMSOIN 149,600 253,100 103,500
01 AXISHNEAEEXZ 149,600 253,100 103,500
OAESAI D HIHISAIS QHEH(BHO|BHES) 25,000
OLods =& 32473 25,000
OR4AE HXSSS3HA 20,000
O&alots JI& AL 31,500
02023 AS=HI 30,000
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KIO

Hlw

331,509
5,960

9,860

A3,900

HMEE
Ofl &k2h

568,220

568,220

568,220

40,400

241,300

2,461,917

61,900

139,000

Ofl &F2H

10,000

8,100

568,220

fir

284,110

H

568,220

284,110

fir

284,110

H

568,220
568,220

284,110

i

284,110

Iy

40,400
33,000
12,000
20,000
1,000
7,400
6,000
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A2 2SHSTRR SN 2s0lEsYD
Nz 2oz =Y
el Estile SdN (St &)
AT SA - FE . B(BH) - HEAY - B ofl vy aET HD=2
a=-FM-3%-8 o 8= = ofl &b s2
308 AXIHHSOIA 140,000 140,000
01 AIXHMBAEERZ 140,000 140,000
OAYU JAZTONIC HAEIYH 140,000
NE250 s WDt RE(MEAIY) 1,280,200 1,281,200 A 1,000
308 AXIHHSOIA 1,280,200 1,281,200 1,000
11 SI2SUHUSEAEAE AL HI 1,280,200 1,281,200 A 1,000
OXY250lsWSsI|Et = (HEAIY) 1,280,200
SOI230z NS XA (HEAIY) 200,000 200,000 0
308 AXIHHMSOIA 200,000 200,000
11 2| 2SS B A ERAEAISH] 200,000 200,000
ORI0I23H0lz= W SXH (MEAIY) 200,000
S0 WEAF QIEY 172,000 172,000 0
= 86,000
< 86,000
308 AXIHHSOIA 172,000 172,000 0
= 86,000
= 86,000
11 SI2ZSUHUSEANAEAIEHI 172,000 172,000 0
O20l=n=EAF CIEN 172,000
= 86,000
& 86,000
NS0zl FHEH K& 405,000 405,000 0
= 202,500
= 202,500
308 XAXIHHSOIA 405,000 405,000 0
= 202,500
= 202,500
11 S| 2SO USZEAEREAIS LI 405,000 405,000 0
OXESt=nsHEH XI& 405,000
= 202,500
& 202,500
2= MlssAF K& 50,000 50,000
307 2I1Z2H0| & 50,000 50,000
04 CIZISHAIAIH E X 50,000 50,000
o4& 2tol=sAF X1 50,000
SstiiEA 29 1A 50,000 50,000 0
= 50,000
308 AXIHHMSOIA 50,000 50,000 0
= 50,000
01 AIXHMBAMEEZ 50,000 50,000 0
O2gt=EA 29 N3 50,000
= 50,000




2. SA - O (B1) - HIRAY - 0l &y G o HIRS2

SUESFHY Xsq=d Zz 03 XAAS 110,500 0 110,500
= 85,000
T 25,500

308 AHXISHHMSOIN 110,500 0 110,500
= 85,000
= 25,500

01 AIXHMEANEEZ 110,500 0 110,500
OHME HiE&8Xl =2l =2 110,500
= 85,000
& 25,500

Slrdt NEBE 31,213,940 34,006, 160 N2, 792,220
= 15,622,781
J| 2,182,760
T 13,408,399

SSIRAel BED JIXl &3 31,213,940 34,006, 160 N2, 792,220
= 15,622,781
J| 2,182,760
& 13,408,309

=2)HKE 2ot 2 JH| 10,971,205 12,252,048 1,280,843
= 8,970,110
T 2,001,095

401 A HIYLL20HY| 110,000 0 110,000
= 55,000
T 55,000

01 Al&HI 110,000 0 110,000
OZDIESESRIM E=FHI( 110,000
= 55,000
= 55,000

408 REXISHHSAH=0| & 10,861,205 12,252,048 A 1,390,843
= 8,915,110
& 1,946,095

01 ARSI 28X 10,861,205 12,252,048 1,390,843
O=IIXE 23 2+3b| 10,861,205
= 8,915,110
T 1,946,095

S THHEXAE 25 539,923 664,500 AN124,577
J| 416,844
= 123,079

403 RtXIHASA=0|H 539,923 664,500 N124,577
J| 416,844
& 123,079

01 XEXISHHA=EE X 539,923 664,500 N124,577
O=INE 230 A 539,923
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154,840
33,180
308 AHAIEMSOIE 188,020 192,100 /4,080
154,840
33,180
01 HAHHBSEXRS 188,020 192,100 4,080
O=ItXE 23t ZMAIE sX2el X 188,020
154,840
33,180
ESHM CHMZHIA HiXl & S 284,604 267,366 17,238
207,740
76,864
308 AtXIEMSOIE 284,604 267,366 17,238
207,740
& 76,864
01 HAHHBAEEXS 284,604 267,366 17,238
O23t M HHIY Xl & 22 284,604
Il 207,740
= 76,864
NAIRL EZ2te] A 178,500 284,000 105,500
= 147,000
=S 31,500
403 X SHHMSAH=01H 178,500 284,000 105,500
= 147,000
< 31,500
01 AXISHHA=2 2L 178,500 284,000 105,500
OMIAIFA 222 A 178,500
= 147,000
= 31,500
EXE 23 2434 4,600,000 4,600,000
403 AXIEHHSAH=201H 4,600,000 4,600,000
01 AXIEHM A= 2 £ 4,600,000 4,600,000
X8 23 28| 4,600,000
ZoHH QHLHE EHIAY 8,135 236,880 N228,745
= 3,970
< 4,165
403 X HMSAH=01H 8,135 236,880 N228,745
= 3,970
& 4,165
01 MXIHHA 222 8,135 236,880 N228,745
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AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH SEE Hnz=2
SErTArSRt T == B Ofl r =e
O=3&t etie H| At 8,135
= 3,970
S 4,165
3 SSAIE 2,629,872 2,081,876 547,99
Il 1,314,936
= 1,314,936
307 212+01& 2,529,672 2,081,876 447,7%
Il 1,264,836
= 1,264,836
02 QIHHAANSEE R 2,529,672 2,081,876 447,79%6
O=Zatl SsSAtL 2,529,672
J| 1,264,836
S 1,264,836
401 AlEHIZL 2 OHYI 100,200 0 100,200
Il 50,100
= 50,100
01 AlIZHI 100,200 0 100,200
O=sSAMY Z0l==el d=ZAt 100,200
Jl 50,100
== 50,100
EXE 23 g8 300,000 300,000 0
403 AXIEHHSAH=0lH 300,000 300,000
01 IR A =2 300,000 300,000
OEXNE2M 2l=2=l 300,000
SEESM s HE X 1,457,300 263,900 1,193,400
= 1,121,000
= 336,300
403 XX MS =01 1,457,300 263,900 1,193,400
= 1,121,000
= 336,300
01 XM= 22X 1,457,300 263,900 1,193,400
OSREIs dsns2t 2HE XA 1,457,300
= 1,121,000
= 336,300
Heus2 2435 X 17,400 23,200 A5,800
= 12,000
= 5,400
308 AHXIEMSOIE 17,400 23,200 25,800
= 12,000
= 5,400
01 X SHHNFAEXS 17,400 23,200 A5,800
OFRS2oM d=us2t 2d3t ALY 17,400
= 12,000




A= FgNs2E= 2A 0 2s0=a
3N Feted dsSEE
Hel: 3RS EE& Ot HE (Gt H2)
42 RA - ZB . G9(3D) - HRAY - BYS Ol &t A HlmE2
| & 5,400
2 REAS 2 DE3AY 195,500 841,500 A\646,000
= 161,000
T 34,500
308 XXM SOIA 195,500 841,500 646,000
= 161,000
= 34,500
01 HASHHBYEXZ 195,500 841,500 646,000
OE=3t FEXS 2 DTt 195,500
= 161,000
& 34,500
AMEXE M2 JI=ZA 50,000 0 50,000
= 50,000
308 XXM SOl 50,000 0 50,000
= 50,000
01 XSS LExS 50,000 0 50,000
OAEXIE KHI22HH JIZZA 50,000
= 50,000
Olci RE2at74 =254 At 510,000 0 510,000
= 340,000
T 170,000
308 AFAIEHMSOIE 510,000 0 510,000
= 340,000
= 170,000
01 IXHMBdE2x= 510,000 0 510,000
OOlcH FE2strb =254 MY 510,000
= 340,000
= 170,000
FEEZM SHBAL X2 24,600 43,400 18,800
308 XXM SOIA 24,600 43,400 18,800
01 XN B EES 24,600 43,400 18,800
OS2 SHHAL XI& 24,600
FEEIN dsXE 207,800 219,000 A11,200
308 XXM SOIH 207,800 219,000 A11,200
01 AX N B2 LS 207,800 219,000 A11,200
ORE=2sM dsA 207,800
CAE FEEAM SHAAL 2LIEHE 35,000 0 35,000
307 2I2t01 & 35,000 35,000
02 LB A HE X 35,000 35,000
O=XE SE23 M SHEAL 2LIEHEY 35,000
EXE 23 FIIZA 100,000 87,000 13,000
307 QIztol& 100,000 87,000 13,000
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Mo
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hoH
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166,000

hoH

790,000
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Mo

790,000
790,000
494,000
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166,000

mhoH

203,000
127,000
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o
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127,000
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hoH

203,000
203,000
127,000
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Mo
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hoH
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Ss2E= 230l= o
SotRi IsEE
SR 2EN JIX & Chel &)
T 2A - B O9I(3H) - HRAY - B A HIDEZ
| & 10,200
NASRAMEE T2 IHAIS 63,981 78,320 14,339
= 45,701
= 18,280
308 XXM SOIA 63,981 78,320 14,339
= 45,701
=S 18,280
01 XN BSELES 63,981 78,320 A14,339
OAMAIRLEE T2 A 63,981
= 45,701
< 18,280
HIADIER A S2XEAS 399,750 0 399,750
= 307,500
= 92,250
308 XM SOIE 399,750 0 399,750
= 307,500
= 92,250
01 AXH B2 LS 399,750 0 399,750
ONAD ISR S2XEAI 399,750
= 307,500
s 92,250
N 2atmzat SA 140,000 70,000 70,000
) 85,000
& 55,000
308 XM SOIE 140,000 70,000 70,000
Il 85,000
= 55,000
01 AX N B EES 140,000 70,000 70,000
OXg 2374t NFAL 140,000
Jl 85,000
= 55,000
A G QIESAL X2 3,400 3,850 A450
Jl 3,400
308 XXM SOIH 3,400 3,850 A450
Jl 3,400
01 HRHHBSEELS 3,400 3,850 A450
OXtHF A QISBUAL 3,400
Jl 3,400
ZetRA EESAE 85,000 87,680 A2,680
307 el2tol & 20,000 22,680 A2,680
02 2IZHBYAIAE & 20,000 22,680 A2,680
O&= =2l Vs #3d 20,000




a3 FIMsZE= Zstoll=a S0
3 2oRs BSEE
Chel: 2atRAol BED OIX & EER=E)
A 2A - ZB . CR(3H) - HIRAY - BAES Ofl Ao Oﬁ]gﬁ HR=2
308 XXM SOl 65,000 65,000
01 XN BELES 65,000 65,000
ORg=e 22 MAr 65,000
ZSHH YHEE AHIOIE 2= 55,250 0 55,250
= 45,500
< 9,750
308 XXM SOIA 55,250 0 55,250
= 45,500
< 9,750
01 XN EES 55,250 0 55,250
O2sHM EHEE AlAE2H 2] 55,250
= 45,500
< 9,750
NS LEFA BSX ALY 300,000 0 300,000
= 200,000
[ 100,000
308 XXM SO0IA 300,000 0 300,000
= 200,000
< 100,000
01 AXHH B ELES 300,000 0 300,000
OXY L2 2K AL 300,000
= 200,000
< 100,000
HSAHE 24 Zd| 3,930,000 1,425,000 2,505,000
= 2,620,000
& 1,310,000
403 AXIEHMSAH=0ld 3,930,000 1,425,000 2,505,000
= 2,620,000
[ 1,310,000
01 AXEMA2E = 3,930,000 1,425,000 2,505,000
OXSAHE 24FH| 3,930,000
= 2,620,000
< 1,310,000
HEAE SLTHAIAE 2= 162,000 259,500 A97,500
= 108,000
< 54,000
403 AXIEHMSAH=0lH 162,000 259,500 A97,500
= 108,000
(= 54,000
01 AXISHHA 22 % 162,000 259,500 A97,500
OB SAHE STHAIAE 2= 162,000
= 108,000
< 54,000
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a3 FIMsZE= 2A 0 2s0=a
3 2oRs BSEE
Chel: 2atRAol BED OIX & EER=E)
AR RA - F - O(BIH) - NRAY - BES 0l Aro A timE=FT
HEAE LTHAIAE S22 448,500 421,500 27,000
= 299,000
& 149,500
308 AXIMSOIA 448,500 421,500 27,000
= 299,000
[ 149,500
01 AXHHNBHEES 448,500 421,500 27,000
OXSAHE HMAIAE SRIE4 448,500
= 299,000
< 149,500
HY2HZHI(SH0= LS 101,423 103,333 21,910
Jl=3sl 101,423 103,333 21,910
JI=2&Hl 101,423 103,333 21,910
201 eer23| 28,723 36,623 27,900
01 AtR2t2l] 28,723 36,623 27,900
OJlE=3HI 10,498
OJl=sgtl 15,225
2IAs|=g 3,000
202 Ot 49,300 43,910 5,390
01 =Lioi 49,300 43,910 5,390
OJ12 044l 49,300
203 gR=8| 23,400 22,800 600
01 J 22 R=AHI 6,600 6,600 0
O=2zH=22=% 6,600
M FA2ELRFAI 16,800 16,200 600
O2ztilsd St 4,800
OM=a S 3,600
OZ& 4,200
OA==23tt 4,200
Hees(23t0= A1) 110,000 110,000 0
WEHAHXIE 110,000 110,000 0
WRHAHXI= 110,000 110,000 0
705 O~ RIS A4S 110,000 110,000 0
04 Al - EXISIHEDIS0==01Atat &t 110,000 110,000 0
SSZHHARE 0|8 AR 70,000
ONME tz=2o &8¢ AN 40,000
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4,425
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500,000
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A H=sdEH

a2 esHsz2
Hu: ASHOl YRAE
cigl: HSAE (el mg)
AR SA . O(BH) - HRAY - BAS ofl b dE= HDS2
4= - 2A - 35 = g5 . 0l &t =
01 AXISHNEAEEXZ 500,000 500,000 0
OANZ 288712 A& 500,000
=2H AEX & 46,000 46,000
202 04| 6,000 6,000
03 =220 6,000 6,000
O=2¥20H]| 6,000
307 QIZt0I ™ 40,000 40,000
04 DIZISHAFAIRE 2 & 40,000 40,000
O=HAEZ=NES XA 40,000
T H=3 A& 10,242,742 9,540,344 702,398
307 21Zto| ™ 10,242,742 9,540,344 702,398
2 QI2ZFEBMAIEE X 8,080, 181 7,562,781 517,400
ONEZMEI =AM 8,013,581
ONM=II2x4 48,600
ONZSHMESANEA SSHUS} HRAL 18,000
03 QIZIHHHE2HYIE X 2,162,561 1,977,563 184,998
O=s=H=E AIRH2Y 2,162,561
SIAESIHH #HEXJ 303,480 297,000 6,480
307 21Z2to| ™ 303,480 297,000 6,480
2 QIZHEBAMAIEE R 303,480 297,000 6,480
OZESSHAN HEXA 303,480
SOIHAE =l K& 250,000 250,000 0
308 AXIHHSOIA 250,000 250,000
01 AIXHMEANEEZ 250,000 250,000
OZQMAE 24H| K& 250,000
MEM=OE X 292,000 343,000 251,000
307 QIZt0I™ 107,000 160,000 53,000
04 QIZISHAAIH E X 107,000 160,000 A53,000
ODIAHESE H2U3 9,000
OAZUHESHDI2IEU S 63,000
OSHET XA HAAIIXYF] 35,000
308 AXIHHSOIA 185,000 183,000 2,000
01 AIXHMEANEEZ 185,000 183,000 2,000
OFZ)| d=2KE=UF 120,000
OSHETXAM sFE23 8= &
thal 25,000
OHMI768] d=EHESsEe 2R US 40,000
S 2sZ0IF " EHXJ 100,000 200,000 » 100,000
308 AXIHHSOIA 100,000 200,000 100,000
01 AIXHMBAEEZ 100,000 200,000 100,000
O 287|182 g2+ X3= 100,000
SEHFFOLZFAH 2 2,000,000 0 2,000,000




A H=sdEH

Pk sHol M=s&=
el MsdE (SH9 H2)
AR R BB O(SH) - MSAY - BAS 0l &y G o HIRS2
308 AXISHHMSOIN 2,000,000 2,000,000
01 AXISHNBAEES 2,000,000 2,000,000
O==3Foz=71H 2EXA 2,000,000
MEHFERE 8,013,971 6,502,906 1,511,065
J| 5,773,452
== 2,240,519
MEHHE K& 2,000 2,000
202 04t 2,000 2,000
01 =2LHM Y| 2,000 2,000
OMEXE +=20{bl 2,000
MEHHIS X=X HEXI(A2) 1,162,097 1,159,645 2,452
J| 1,135,457
T 26,640
308 AXISHHMSOIN 1,162,097 1,159,645 2,452
J| 1,135,457
= 26,640
01 AXISHNEZAERZ 1,162,097 1,159,645 2,452
OdBtME X=X BH X 1,162,097
Dl 1,135,457
== 26,640
24 M=Es N (AM2) 1,062,167 1,022,318 29,849
J| 1,028,047
& 24,120
308 KX SHHMSOIN 1,052,167 1,022,318 29,849
J| 1,028,047
T 24,120
01 AIXISHNBAEES 1,052,167 1,022,318 29,849
Ozl MExsX X BHX 1,052,167
J| 1,028,047
= 24,120
Hzal H=gs XA 68,916 44,940 23,976
J| 22,470
& 46,446
307 S1Zto| & 68,916 44,940 23,976
J| 22,470
= 46,446
04 QIZFSHAAI X 68,916 44,940 23,976
Os=0sddEx=U3al 68,916
J| 22,470
T 46,446
ATRAH 0|2H XIS 3,063,009 1,682,703 1,380,306
J| 2,522,478
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A2 2HSBRR 2K HSAED
Hu: om0l HSAE
ool dENSAE (St &)
AR 2N B . O9(3H) - NBAY - BES ol by dE= HDS2
d=-FA-3858-8 = 4= = 0l &+ 2
= 540,531
308 AXIHHSOIA 3,063,009 1,682,703 1,380,306
J| 2,522,478
= 50,531
01 AIXSHHEAMNEXZS 3,063,009 1,682,703 1,380,306
OAZ=2Z 0|8 X 3,063,009
J| 2,522,478
& 50,531
MEHs T2 18,000 18,000 0
307 2I2t01 ™ 18,000 18,000
2 Q2B AMANEER 18,000 18,000
OMEMSA A 25 HPAS 18,000
MEHHE g5 X 218,000 218,000 0
307 QI2t01™ 218,000 218,000
04 QIZISHAFAIRA 2 X 218,000 218,000
O&Esg MaEd=Uz iRl 2 &I X 150,000
OMEHM= ol S wa 50,000
OMEHE 2XHuE 18,000
MEHFOE H=l & =2t 564,922 541,900 23,022
307 QI2t0| ™ 534,922 481,900 53,022
04 OIZISHAAIR B & 534,922 481,900 53,022
O MEXNSUSHEEIL 259,722
Oz MEXESHEE2U2 45,000
OSSAHEZMEHSE U 27,000
OZXIAP| S5E MEMFUHI 79,000
OS=MEXNRIEEAUS 20,000
Os=EEUR0HE 0723 12,000
OSE=L MEH= o3 7,200
OSE=EL MEN=E A - BEUF 8,100
Os= NEgHZUE & M=208 &It 18,000
Od= Iiei=22t01Y 3l 8,100
OOFAIOFEHE 2F OIAEAHE] X 50,800
308 AXIHHMSOIA 30,000 60,000 A30,000
01 AIXSHHBAERZS 30,000 60,000 A30,000
OsEEL 24E F20U3 30,000
Of2tE thal XI& 22,000 22,000 0
308 XAXIHHSOIA 22,000 22,000
01 AXISHNEAERZ 22,000 22,000
OSFAOIEU S 12,000
O34 A=A 0LE S 10,000
M= APFEH THE 245,000 45,000 200,000
307 QIZt0I ™ 200,000 0 200,000
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SssBE= SN SRS
ASEQ MEEE
MBHSTE (crel: &g
=24 BB O3 - MRAY - BAS ol & A HIDS2
04 QUZHHAIAIR E X 200,000 0 200,000
Odlo|Ian=a 2 Mt LA 8= A
HUsl 200,000
308 AXIHMSOI & 45,000 45,000 0
01 XIXISHHBAE LS 45,000 45,000 0
OSEolA MIFAATEAN HHE) 27,000
Oste=277 A& Q=S 18,000
EHACNS XI& 44,160 47,400 A3,240
308 AXISHMSOIN 44,160 47,400 A3,240
01 AXSHHBLERS 44,160 47,400 A3,240
OHMIAHE A3 29,160
OS2 2L IHEAU 15,000
=5 TUSatA 13,500 15,000 A1,500
307 212+01™ 13,500 15,000 A1,500
04 QIZISHAAIES E X 13,500 15,000 21,500
Os=L0satna 13,500
203 *X & X 37,200 37,200 0
308 AHXIHMSOIH 37,200 37,200
01 IXSHNHBLEXRS 37,200 37,200
OWK(O Xt =2)el =X 37,200
OIEFI|IUE K& 4,000 4,000 0
307 212+01™ 4,000 4,000
04 QUIZHHAIAIE E X 4,000 4,000
O=E=X UsEIIU= 4,000
HaE =23 WRU3 18,000 18,000 0
308 AXISHMSOIA 18,000 18,000
01 XX B E LS 18,000 18,000
O=HM & -5 -2 H4rH =235 I 18,000
SEEC dIoIAHES 135,000 135,000
307 2I2+01A 90,000 90,000
04 QUIZHHAIAIRE E X 90,000 90,000
OS=8H doIatHEE 90,000
308 AHXIHMSOIH 45,000 45,000
01 IXSHHBAEERS 45,000 45,000
OS=3H dIoI2HAE 45,000
=0IXE100 I BHH 29 960,000 960,000 0
| 960,000
308 AHXIHMSOIH 960,000 960,000 0
| 960,000
01 AXSHHBMEXRS 960,000 960,000 0
O=0IME100 eI8MH 29 960,000
| 960,000




a2 2SR SH  HSEED
Hu: ASHOl YRAE
ool dENSAE (St &)
AR R BB B(3H) - MBAY - BES 0l arey diEx HIRS2
d= - A - R F S . 0l &2 =
Hisa XI& 46,000 46,000
307 21Z2t0| ™ 36,000 36,000
04 CIZISHAIAIE B & 36,000 36,000
OZ XA BISUE 9,000
Obtsela #ot A& 27,000
308 AXIHHMSOIA 10,000 10,000
01 AIXHMBANELZ 10,000 10,000
OHZYE bts=Hl 10,000
JIASA ATIRA HIAIS 105,000 105,000 0
J| 105,000
403 XEXIHXMS K20 A 105,000 105,000 0
J| 105,000
01 XN K2EE 105,000 105,000 0
OQIIMSAl AIRA BZ2AIS 105,000
J| 105,000
OHE N AZXHE WA SH(MEAIY) 70,000 70,000 0
308 XAXIHHS0IA 70,000 70,000
01 AXIHNBAEERZ 70,000 70,000
O N AZ=HE DA 70,000
SEECMENSEUHE 140,000 140,000
307 2I2t0|™ 100,000 100,000
04 CIZISHAFAIRE 2 R 100,000 100,000
OsHE=TMEXNEUS 100,000
308 AXISHHSOIA 40,000 40,000
01 AXISHNEAEXZ 40,000 40,000
OsE=MEN=EUS 40,000
M=2ER3] K& 15,000 15,000 0
308 AXIHHSOIA 15,000 15,000
01 AIXSHMBAEERZ 15,000 15,000
OHE HESH 8= =20UE 15,000
HLUAOE XI& 10,000 10,000
307 2I2t0|™ 10,000 10,000
04 CIZISHAIAIR 2 & 10,000 10,000
O==832YEH M=23AILIHHILIACHS 10,000
o NH=R=E 7,108,975 5,826,143 1,282,832
J| 1,065,370
& 6,043,605
Hoelx= K=AH 5,361,684 4,798,297 563,387
307 2I2t01 ™ 5,361,684 4,778,297 583,387
2 Q2B AMAIEE X 4,143,933 3,673,704 470,229
OFMIMEFSE=SAIY 2,557,589
OFMWAUAALRAHEIRA 1,407,344




A H=sdEH

(ehol:®el)
AR .24 ZE . G230 - NIRAY - BES ol ke G o HlmS2

Os=d SHAIA 179,000

03 QIZIHHHE2GHIEX 1,115,251 1,022,093 93,158
OZE=ETHMAUMES MRHSZHI 1,115,251

04 QIZHHAIAIE E X 102,500 82,500 20,000
OXMeIZHAZ= WF 20,000
OZX AN IO CIXI=HE 82,500

ZoHel SRl =Sl K& 100,000 100,000 0
| 19,000
= 81,000

307 212+01™ 100,000 100,000 0
| 19,000
= 81,000

04 QIZHHAIAIE E X 100,000 100,000 0
OO ELIXISUS 100,000
| 19,000
& 81,000

oI MET S XIS RN XI (M=3]) 91,584 88,924 2,660
| 45,792
= 45,792

307 212+01 A 91,584 88,924 2,660
| 45,79
= 45,792

02 QIRHHAAIHE X 91,584 88,924 2,660
OZOHI MEXI = K = XHH X 91,584
J| 45,79
= 45,792

ZOHQI ME K = X = XHIH X (Al 22) 812,044 726,212 85,832
J| 580,032
& 232,012

308 AHXIHMSOIH 812,044 726,212 85,832
J| 580,032
= 232,012

01 AXIEH B AERS 812,044 726,212 85,832
O OHI MEX F K= Xt BHXIXKIR 812,044
| 580,032
= 232,012

HOfIAZT=AR0ISRHKIS (AIZ2) 510,663 112,710 397,953
| 420,546
& Q0,117

308 AXIEHMSOIN 510,663 112,710 397,953
| 420,546
& Q0,117
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A H=sdEH

SA - ZE . B9(0) - ARAY - BAS of v G o HIDE2
01 AXSHHB 2L 510,663 112,710 397,953
OFOHR!l AXL=AE 510,663
Jl 420,546
< 90,117
0F & - =0t 252 8,000 0 8,000
307 @120l & 8,000 8,000
04 QIZHHALAIE 2 8,000 8,000
O&0 & - =70t 8,000
ORI =3l ALRE 225,000 225,000
402 212 X201 & 225,000 225,000
03 2IZHRAETALHHI 225,000 225,000
OHMHAHF2l A2 225,000
HEAE &S 47,256,317 61,362,217 14,095,900
Jl 16,129,000
[ 31,127,317
SAZIME 22l 370,217 170,217 200,000
307 gl2to| & 170,217 170,217 0
02 2B YAIAE £ 170,217 170,217 0
OSSAL=MEYH 2te 170,217
402 212+ X201 & 200,000 200,000
01 QI X2 AL E R (KM TH) 200,000 200,000
OSSAEXMH HS2 )| £X 200,000
HFAE |22 At 285,000 0 285,000
403 X SHHMSAH=01H 285,000 285,000
01 AXISHHA=2 2L 285,000 285,000
OHMSAI4 c|22E At 285,000
SSHSAEHNE> 10,000 10,000
201 er23y| 10,000 10,000
02 S3=gHl 10,000 10,000
OE=Hsal2 o 10,000
SIMSHEHE XA 7,835,000 14,270,000 6,435,000
Jl 5,700,000
= 2,135,000
403 XHXI M S At 7,835,000 14,270,000 6,435,000
Jl 5,700,000
=S 2,135,000
01 A2 2L 7,835,000 14,270,000 26,435,000
O=uHSsME HE 7,835,000
Jl 5,700,000
[ 2,135,000
HSTSAE NS (M) (M) 19,038,500 30,472,000 11,433,500
403 AXIEHHSAH=01d 19,038,500 30,472,000 11,433,500
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D 2stds2E= A HENEL

. =m0l HSNE
HISAE E2E EER=E)
4224 - B B9IEH) - AIRAY - B of v G o HIDE2
01 AXISHHA =22 & 19,038,500 30,472,000 211,433,500
ONISASAIE X2 (42) 19,038,500
AHACHR] L OHEE RS2 A8 3,500,000 5,050,000 1,550,000
403 MR HHMSAHE01H 3,500,000 5,050,000 1,550,000
01 MHXIHH A 222 3,500,000 5,050,000 1,850,000
OLHEEAl W e EMs2 HE 3,500,000
ZeMEE ARE s AN 6,360,000 2,920,000 3,440,000
Jl 4,000,000
= 2,360,000
403 THXISHMSAH=01H 6,360,000 2,920,000 3,440,000
Jl 4,000,000
=S 2,360,000
01 AXISHHA =2 & 6,360,000 2,920,000 3,440,000
Ol s A2 Ms2 A8 6,360,000
Jl 4,000,000
< 2,360,000
SEMSAENE > 7,211,600 5,835,000 1,376,600
Il 5,037,000
= 2,174,600
403 AXIEHHSA=201H 7,211,600 5,835,000 1,376,600
7l 5,037,000
= 2,174,600
01 AR A =2 £ 7,211,600 5,835,000 1,376,600
OSSHSAIE HES X2 7,211,600
Il 5,037,000
s 2,174,600
HERUNEAIE AE 2,436,000 2,625,000 /189,000
Jl 1,392,000
= 1,044,000
403 AXIEHMSAH=Z01d 2,436,000 2,625,000 189,000
Il 1,392,000
= 1,044,000
01 XIS A=E £ 2,436,000 2,625,000 A189,000
OHSR0 JEAE A 2,436,000
7l 1,392,000
= 1,044,000
SSIMF2 AMEES & 2 210,000 0 210,000
402 QI2F X201 & 210,000 0 210,000
03 2I2+RAETAIS I 210,000 0 210,000
Os=H=a2 A2 & 22| 210,000
=H&At XI& 388,500 3,561,806 A3,173,306
SMRUHH 24 X2 388,500 688,500 300,000




L 2SS C

M=

SR SHEAL X2 (SH9 H2)
AR R BB B(3H) - MBAY - BES 0l arey diEx HIRS2
d= - A - R F g . 0l &2 =
307 21Z2t0| ™ 388,500 688,500 300,000
2 QI2ZHEAMAEER 388,500 585,100 196,600
OZHMSPOAE (IMAIY X (THE) 388,500
HAERIAHH(MFEED) 43,979 47,209 A3,230
=24l 43,979 47,209 N3,230
Jl2&H| 43,979 47,209 N3,230
201 LEt2AH| 15,079 20,079 A5,000
01 AtR2teld| 15,079 20,079 A5,000
OJl2+EH| 6,154
OPIE==1=1s] 8,925
202 04t 28,900 27,130 1,770
01 =2LHM Y| 28,900 27,130 1,770
OJ120| 28,900
MRES(HMSEED) 34,000 34,000 0
LHEHeHXI= 34,000 34,000 0
LHEHN K= 34,000 34,000 0
705 (==l S4AE 34,000 34,000 0
04 Al - SXISINLD | S0 == 0| AHAHE 34,000 34,000 0
OS LM RAN (2020) 34,000
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